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There was a high standard of learning for women also. In house, they might learn music and dancing. They
had to undergo the Upanayvana ceremony.

There were two types of educated women.
1. Sadvodwahas : They are people who pursued studies till their marriages.

2. Brahmavadinis : They are people who did not marry and pursued studies throughout their lives. Women
used to learn vedas and vedangas. Their involvement was more in reciting hymns other ritualistic operations.
Women sages were called Rishikas. The scholarly women could be named as Maitreyi and Gargi.

This phase marks another transition from the spirit of Brahmanas to the spirit of the Upanishads. While the
Brahmanas are called Karma Kanda (Karma 1s another word for yajna) because of total known as Jnana
kanda because here knowledge becomes primary. Since the shift involved total change m attitude, it needed a
link. This phase is called Aranyanka because it became relevant when men retired to forests due to old age.
Why should old people retire to forests? Surely. this is a provoking. If old people retired to forest. then it must
be due to strong affinity to the place of origin. which prompted them to choose so.

Hence, proper study of philosophy begins only from the Upanishads. In this connection, one question remains
to be answered. The Aranyakas Constitute a phase in the life an individual.

Subjects in Vedic Education :

It might take twelve years for a student to develop expertise in one Veda and thereafter. it would be twelve
years. thirty six years and so on. A graduate was called Snataka and the graduation ceremony was called
Samavartana.

Let's have a look at some other subjects.

1. Ttihas- History

| B

. Anviksiki ( logie)

3. Mumamsa (Interpretation)

o

. Shilpashastra (architecture)
5. Arthashastra (polity)

Sub questions

Question Number : 1 Question Id : 68634019646 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Samavartana means :

1. Process of not marring and retiring to jungle

[ ]

. Ceremony associated with the snataka.
3. Perusing study till marring

4. Process where knowledge is primary

Options :



68634077601. 1
68634077602. 2
68634077603. 3
68634077604. 4

Question Number : 2 Question Id : 68634019647 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which as/ are not the synonyms of affinity

A, Harmony

B. Rapport

C. sympathy

D. Aversion

1. B Only

2. B and D Only

.CandD

T

4. D Only

Options :

68634077605. 1
68634077606. 2
68634077607. 3
68634077608. 4

Question Number : 3 Question Id : 68634019648 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The number of months required to expertise in all vedas for a student 1s :

1.576

2732

L%}
—
e
e

4. 288

Options :

68634077609. 1
68634077610. 2
68634077611. 3
68634077612. 4

Question Number : 4 Question Id : 68634019649 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which was not a part of Vedic education as per the list given?

1. Renunciation

()

. Commerce and trade
3. Recreational archives

4. Yogasadhana

Options :

68634077613. 1
68634077614. 2
68634077615. 3
68634077616. 4

Question Number : 5 Question Id : 68634019650 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

le‘ﬂllﬂll‘jfﬂkﬂ means .

1. Rishikas

()

. Brahmanas

[F¥]

. The phase Depicting transition from spirit of Brahmanas to the spirit of the Upanishads

4. An old man gong to the forests

Options :

68634077617. 1
68634077618. 2
68634077619. 3
68634077620. 4

Question Id : 68634019645 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



There was a high standard of learning for women also. In house, they might learn music and dancing. They
had to undergo the Upanayvana ceremony.

There were two types of educated women.
1. Sadvodwahas : They are people who pursued studies till their marriages.

2. Brahmavadinis : They are people who did not marry and pursued studies throughout their lives. Women
used to learn vedas and vedangas. Their involvement was more in reciting hymns other ritualistic operations.
Women sages were called Rishikas. The scholarly women could be named as Maitreyi and Gargi.

This phase marks another transition from the spirit of Brahmanas to the spirit of the Upanishads. While the
Brahmanas are called Karma Kanda (Karma 1s another word for yajna) because of total known as Jnana
kanda because here knowledge becomes primary. Since the shift involved total change m attitude, it needed a
link. This phase is called Aranyanka because it became relevant when men retired to forests due to old age.
Why should old people retire to forests? Surely. this is a provoking. If old people retired to forest. then it must
be due to strong affinity to the place of origin. which prompted them to choose so.

Hence, proper study of philosophy begins only from the Upanishads. In this connection, one question remains
to be answered. The Aranyakas Constitute a phase in the life an individual.

Subjects in Vedic Education :

It might take twelve years for a student to develop expertise in one Veda and thereafter. it would be twelve
years. thirty six years and so on. A graduate was called Snataka and the graduation ceremony was called
Samavartana.

Let's have a look at some other subjects.

1. Ttihas- History

| B

. Anviksiki ( logie)

3. Mumamsa (Interpretation)

o

. Shilpashastra (architecture)
5. Arthashastra (polity)

Sub questions

Question Number : 1 Question Id : 68634019646 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Samavartana means :

1. Process of not marring and retiring to jungle

[ ]

. Ceremony associated with the snataka.
3. Perusing study till marring

4. Process where knowledge is primary

Options :



68634077601. 1
68634077602. 2
68634077603 3
68634077604. 4

Question Number : 2 Question Id : 68634019647 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which as/ are not the synonyms of affinity

A, Harmony

B. Rapport

C. sympathy

D. Aversion

1. B Only

2.B and D Only

.CandD

T

4. D Only

Options :

68634077605. 1
68634077606. 2
68634077607. 3
68634077608. 4

Question Number : 3 Question Id : 68634019648 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The number of months required to expertise in all vedas for a student 1s :

1.576

2732

L%}
—
e
e

4. 288

Options :

68634077609. 1
68634077610. 2
68634077611. 3
68634077612. 4

Question Number : 4 Question Id : 68634019649 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which was not a part of Vedic education as per the list given?

1. Renunciation

()

. Commerce and trade
3. Recreational archives

4. Yogasadhana

Options :

68634077613. 1
68634077614. 2
68634077615. 3
68634077616. 4

Question Number : 5 Question Id : 68634019650 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

le‘ﬂllﬂll‘jfﬂkﬂ means .

1. Rishikas

()

. Brahmanas

[F¥]

. The phase Depicting transition from spirit of Brahmanas to the spirit of the Upanishads

4. An old man gong to the forests

Options :

68634077617. 1
68634077618. 2
68634077619. 3
68634077620. 4

Sub-Section Number : 2
Sub-Section Id : 686340648
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634019651 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blanks with appropriate prepositions given form the following options :

Lord Buddha realised the need .................... educating devotees..........e..... a massive scale. Budhhist education
started 2,600 years ago. It was collective ................. the sence that it was not based............. cast system

1. Of on. from. with

()

. with. on. in. of
3. of. on. in. on

4. of. in for, on

Options :

68634077621. 1
68634077622. 2
68634077623. 3
68634077624. 4

Question Number : 6 Question Id : 68634019651 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions given form the following options :

Lord Buddha realised the need .................... educating devotees................ a massive scale. Budhhist education
started 2,600 years ago. It was collective ................. the sence that it was not based............. cast system

1. Of. on. from. with

(o)

. with. on. . of
3. of on. . on

4, of. in for, on

Options :

68634077621. 1
68634077622. 2
68634077623. 3
68634077624. 4

Question Number : 7 Question Id : 68634019652 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Replace the underlined expression with on 1diom.
My uncle is very short tempered. So Whenever he visits us all of us at home are being extra careful.

1. Atsea

[

. Dribs and drabs
3. Walking on egg shells

4. Walking the plan

Options :

68634077625. 1
68634077626. 2
68634077627. 3
68634077628. 4

Question Number : 7 Question Id : 68634019652 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Replace the underlined expression with on idiom.
My uncle is very short tempered. So Whenever he visits us all of us at home are being extra careful.

1. At sea

]

. Dribs and drabs
3. Walking on egg shells

4. Walking the plan

Options :

68634077625. 1
68634077626. 2
68634077627. 3
68634077628. 4

Question Number : 8 Question Id : 68634019653 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the sentence with the correct subject verb agreement

1. Anmnotated Readings is necessary for on msight ful understanding for the text and helps students better internalize
the material.

()

. Amnotated Readings are necessary for an insightful understanding of the text and help students better
internalize the material.

3. Annotated Readings are necessary for an insightful understanding of the text and helps students better
Internalize the material.

4. Amnotated Readings in necessary for an insightful understanding of the text and help students
betters Internalize the material

Options :

68634077629. 1
68634077630. 2
68634077631. 3
68634077632. 4

Question Number : 8 Question Id : 68634019653 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the sentence with the correct subject verb Agreement

1. Amnotated Readings 1s necessary for on msight ful Understanding for the text and helps students better internalize
the material.

()

. Annotated Readings are necessary for an insightful understanding of the text and help students better
internalize the material.

3. Annotated Readmgs are necessary for an insightful understanding of the text and helps students better
internalize the material.

4. Annotated Readings in necessary for an insightful understanding of the text and help students
betters Internalize the material

Options :

68634077629. 1
68634077630. 2
68634077631. 3
68634077632. 4

Question Number : 9 Question Id : 68634019654 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The prominently visible parts on the front size of an objectas : ............

1. Starling

()

. simplex
3. salience

4. Rosaline

Options :

68634077633. 1
68634077634. 2
68634077635. 3
68634077636. 4

Question Number : 9 Question Id : 68634019654 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The prominently visible parts on the front size of an object as : ...

1. Starling

[ )

. simplex
3. salience

4. Rosaline

Options :

68634077633. 1
68634077634. 2
68634077635. 3
68634077636. 4

Question Number : 10 Question Id : 68634019655 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the Coreect spelling of the word from the options given below:

1. Reverberation

(]

. Riverberation
3. Revirberation

4. Revarberation

Options :

68634077637. 1
68634077638. 2
68634077639. 3



68634077640. 4

Question Number : 10 Question Id : 68634019655 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the Coreect spelling of the word from the options given below:

1. Reverberation

[ )

. Riverberation
3. Revirberation

4. Revarberation

Options :

68634077637. 1
68634077638. 2
68634077639. 3
68634077640. 4

Question Number : 11 Question Id : 68634019656 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The next member of the given series is :

8,18,23,50,72, e

1.120

| ]

.90
3.02

4. 08

Options :

68634077641. 1
68634077642 2
68634077643. 3
68634077644. 4

Question Number : 11 Question Id : 68634019656 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The next member of the given series 1s :
8,18.23,50, 72, oo

1.120

[

.90
3.92

4. 08

Options :

68634077641. 1
68634077642. 2
68634077643. 3
68634077644. 4

Question Number : 12 Question Id : 68634019657 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A faulty minute hand covers only 90% of the circle per hour. If it starts from eight in how many minutes it will
reach the seven mark at the given speed :

1.53
2.58

.61

T

4. 64

Options :

68634077645. 1
68634077646. 2
68634077647. 3
68634077648. 4

Question Number : 12 Question Id : 68634019657 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A faulty minute hand covers only 90% of the circle per hour. If it starts from eight in how many minutes it will
reach the seven mark at the given speed :

1.53

[ )

.58

.61

L]

4. 64



Options :

68634077645. 1
68634077646. 2
68634077647. 3
68634077648. 4

Question Number : 13 Question Id : 68634019658 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The age of father in 1980 was twice that of his son's present age. If the present age of son 1s X year and age of
father 1s 79 years than value of X 1s :

1. 15 Year
2. 17 Year

. 23 Year

[F¥]

4, 18 Year

Options :

68634077649. 1
68634077650. 2
68634077651. 3
68634077652. 4

Question Number : 13 Question Id : 68634019658 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The age of father in 1980 was twice that of his son's present age. If the present age of son 1s X year and age of
father 1s 79 years than value of X 1s :

1. 15 Year
2. 17 Year

.23 Year

Laa

4, 18 Year

Options :

68634077649. 1
68634077650. 2
68634077651. 3
68634077652. 4

Question Number : 14 Question Id : 68634019659 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The product of 25% of x and 120% of y = .....cccecciveeeeenne. Yo of (1)
1. 30

2:25

4. 60

Options :

68634077653. 1
68634077654. 2
68634077655. 3
68634077656. 4

Question Number : 14 Question Id : 68634019659 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The product of 25% of x and 120% of y = .....ccceeeeveeneenne. Yo of ()
1. 30

2:25

4. 60

Options :

68634077653. 1
68634077654. 2
68634077655. 3
68634077656. 4

Question Number : 15 Question Id : 68634019660 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average speed of a train in four hours. running at 36 km'h in first hour, 72 km per hour in second hour and
108 km/h in the last two hours in (m/s) 1s :

1..15

!_._.I
=
n

L]
e
i
(5]

Options :
68634077657 1
68634077658. 2



68634077659. 3
68634077660. 4

Question Number : 15 Question Id : 68634019660 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average speed of a train n four hours. running at 36 kim'h i first hour, 72 km per hour m second hour and
108 km'h m the last two hours in (m/s) 1s :

1. 15

!_.J
=
L

4. 30

Options :

68634077657.
68634077658.
68634077659.
68634077660.

B W N =

Question Number : 16 Question Id : 68634019661 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given series : 85, 43, 44, 67.5. 137, 345 observe the series given and by establishing the same relation m 125,
(A). (B). (C). (D). (E). Find what will come 1s place of (C) ?

1. 86

[

.107.5
3.112.5

4.87.5

Options :

68634077661. 1
68634077662. 2
68634077663. 3
68634077664. 4

Question Number : 16 Question Id : 68634019661 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given series : 85, 43, 44, 67.5. 137, 345 observe the series given and by establishing the same relation m 125,
(A). (B). (C). (D). (E). Find what will come 1s place of (C) ?

1. 86

2
—
]
-1
A

4.87.5

Options :

68634077661. 1
68634077662. 2
68634077663. 3
68634077664. 4

Question Number : 17 Question Id : 68634019662 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Vartika went 90 meters in the east before turning to her right. She went 20 meters before turring to her right
again. She walked 30 metres further and then turring to north she walked 100 metres. How far is vartika from.
Her starting point?

1. 80 metres

| ]

. 100 metres
3. 140 metres

4, 260 metres

Options :

68634077665. 1
68634077666. 2
68634077667. 3
68634077668. 4

Question Number : 17 Question Id : 68634019662 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Vartika went 90 meters i the east before turning to her right. She went 20 meters before turring to her right
again. She walked 30 metres further and then turring to north she walked 100 metres. How far is vartika from.
Her starting point?

1. 80 metres

| ]

. 100 metres
3. 140 metres

4, 260 metres

Options :

68634077665. 1
68634077666. 2
68634077667. 3
68634077668. 4

Question Number : 18 Question Id : 68634019663 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Indentify the water-image of the word "bridge"

Lprigge
pLIgge
:PT1IgE6
.PIIPRG

Options :

68634077669. 1
68634077670. 2
68634077671. 3
68634077672. 4

[

Question Number : 18 Question Id : 68634019663 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Indentify the water-image of the word "bridge"

.p1igge
PLIggG
sPTIgE6
«PIIpPRG

Options :

68634077669. 1
68634077670. 2
68634077671. 3
68634077672. 4

(R

Question Number : 19 Question Id : 68634019664 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

There 1s a certain relation between two given words on one side of : : and one word 15 given on another side of
: : while another word is to be found from the given alternatives. Choose the correct pair bear.

Roster : Duty : : Inventory : 7

1. Furnace

()

. Export's

. Goods

L%

4. Produce

Options :

68634077673. 1
68634077674. 2
68634077675. 3
68634077676. 4

Question Number : 19 Question Id : 68634019664 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



There 1s a certain relation between two given words on one side of : : and one word 1s given on another side of
: : while another word is to be found from the given alternatives. Choose the correct pair bear.

Roster : Duty : : Inventory : 7

1. Furnace

[ ]

. Export's
3. Goods

4. Produce

Options :

68634077673. 1
68634077674. 2
68634077675. 3
68634077676. 4

Question Number : 20 Question Id : 68634019665 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Introducing a boy. a girl said. " He 1s the son of the daughter of the father of my uncle". How is the boy related
to the girl?

1. Cousin

[ ]

. Nephew

. Uncle

Laa

4. Son-in-law

Options :

68634077677 1
68634077678. 2
68634077679. 3
68634077680. 4

Question Number : 20 Question Id : 68634019665 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Introducing a boy, a girl said. " He is the son of the daughter of the father of my uncle". How 1s the boy related
to the girl?

1. Cousin

[ ]

. Nephew

. Uncle

Laa

4. Son-in-law



Options :

68634077677 1
68634077678. 2
68634077679. 3
68634077680. 4

Question Number : 21 Question Id : 68634019666 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who 18 world's  first female amputee 18 climb Mount Everest?

1. Tunko Tabei

[

. Arunima Sinha

. Malawvati Puna

L ¥]

4. Erika Weithehmayes

Options :

68634077681. 1
68634077682. 2
68634077683. 3
68634077684. 4

Question Number : 21 Question Id : 68634019666 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who 1z world's  first female amputee 13 climb Mount Everest?

1. Tunko Tabei

()

. Arunima Sinha

. Malawvati Puna

[F¥]

4. Erika Weithehmayes

Options :

68634077681. 1
68634077682. 2
68634077683. 3
68634077684. 4

Question Number : 22 Question Id : 68634019667 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Statement I: Salutya Acadenu Award 1s the second highest Indian Litracy Award. It 15 given 1n 22 languages.

Statement II: R.K. Narayan wat the first recipient of Sahitya Academi Award. He got it for his book Malgud:
Days.

In the light of the above statements. choose the correct answer from the options given below

1. Both statement I and Statement IT are true

[

. Bothe statement I and Statement II are false
3. Statement I is true but statement IT 15 false

4, Statement [ is False but statement IT 1s true

Options :

68634077685. 1
68634077686. 2
68634077687. 3
68634077688. 4

Question Number : 22 Question Id : 68634019667 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement I: Sahitya Acadenu Award 1s the second highest Indian Litracy Award. It 13 given in 22 languages.

Statement IT: R.K. Narayan wat the first recipient of Sahitya Academi Award. He got it for his book Malgud:
Days.

In the light of the above statements. choose the correct answer from the options given below

1. Both statement I and Statement IT are true

[

. Bothe statement I and Statement II are false
3. Statement I is true but statement IT 1s false

4. Statement [ is False but statement IT 1s true

Options :

68634077685. 1
68634077686. 2
68634077687. 3
68634077688. 4

Question Number : 23 Question Id : 68634019668 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I (Books) LIST II (Writers)
A PMudrarakshasa [. |Panim
B. |Abhigvan Shakuntalam | II. [Visakadatia
C. |Pancha Tantra II1. [Kalidasa
D. JAshtadhvayi IV, [Vishnu Sharma

Choose the correct answer from the options given below:

1. A-I. B-II, C-III, D-IV

| ]

CA-IL B-IILL C-IV, D-I
3. A-IV. B-III. C-II. D-I

4. A-IIL B-1. C-IV. D-II

Options :

68634077689. 1
68634077690. 2
68634077691. 3
68634077692. 4

Question Number : 23 Question Id : 68634019668 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Books) LIST II (Writers)
A PMudrarakshasa [. |Panim
B. |Abhigvan Shakuntalam | II. [Visakadatia
C. |Pancha Tantra II1. [Kalidasa
D. JAshtadhvayi IV, [Vishnu Sharma

Choose the correct answer from the options given below:

1. A-I. B-II, C-III, D-IV

| ]

CA-IL B-IILL C-IV, D-1
3. A-IV. B-III. C-II. D-I

4. A-IIL B-1. C-IV. D-II

Options :

68634077689. 1
68634077690. 2
68634077691. 3
68634077692. 4

Question Number : 24 Question Id : 68634019669 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : A black hole is remnant of a massive star which has collapsed. It 1s a Volume of space where
gravitty 1s so strong that nothing not even light can escape fun it.

Statement IT : Its presence was first announced by galileo Galili in 1783
In the light of the above statements. choose the correct answer from the option given below

1. Both Statement I and Statement IT are true

(R

. Both Statement I and Statement IT are false

. Statement I is false but statement II 1s false

L]

4, Statement [ 1s false but Statement IT 1s true

Options :

68634077693. 1
68634077694. 2
68634077695. 3
68634077696. 4

Question Number : 24 Question Id : 68634019669 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : A black hole is remnant of a massive star which has collapsed. It is a Volume of space where
gravitiy 1s so strong that nothing not even light can escape fun it.

Statement IT : Its presence was first announced by galileo Galili in 1783
In the light of the above statements. choose the correct answer from the option given below

1. Both Statement I and Statement IT are true

()

. Both Statement I and Statement IT are false

. Statement I is false but statement IT 1s false

Lad

4. Statement [ 1s false but Statement II 1s true

Options :

68634077693. 1
68634077694. 2
68634077695. 3
68634077696. 4

Question Number : 25 Question Id : 68634019670 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Rowlatt Act {1919) was passed through the Impernal Legislative Couneil to :

1. Increase taxes and custom duties on civilians

()

. Force villages to supply solders and there was forced recruitment of common people

3. Gave Government enormous power is to repress political activates and allowed detention of anybody
suspected

4. Arrest workers who joined hands against racism

Options :

68634077697. 1
68634077698. 2
68634077699. 3
68634077700. 4

Question Number : 25 Question Id : 68634019670 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rowlatt Act {1919) was passed through the Imperial Legislative Couneil to :

1. Increase taxes and custom duties on civilians

()

. Force villages to supply solders and there was forced recruitment of common people

3. Gave Government enormous power is to repress political activates and allowed detention of anybody
suspected

4. Arrest workers who joined hands against racism

Options :

68634077697. 1
68634077698. 2
68634077699. 3
68634077700. 4

Part B: Architecture
Section Id : 686340390
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75
Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340649

Question Shuffling Allowed : Yes



Is Section Default? : null

Question Number : 26 Question Id : 68634019671 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'‘Bhimbetka caves' 1s a famous place located in which State ?

1. Madhya Pradesh

[

. Uttar pradesh

L]

. Rajasthan

4, Maharastra

Options :

68634077701. 1
68634077702. 2
68634077703. 3
68634077704. 4

Question Number : 26 Question Id : 68634019671 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IR e o] feg I 1 R g2
1. HE e
ST YL

-2

RIS EIE

4. HERIY

Options :

68634077701. 1
68634077702. 2
68634077703. 3
68634077704. 4

fad

Question Number : 27 Question Id : 68634019672 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which amoung these material 1s not used for filtering water in Rain water Harvesting System 7

1. Sand

()

. Filter Paper
3. Gravel

4. Charcoal

Options :

68634077705. 1
68634077706. 2
68634077707. 3
68634077708. 4

Question Number : 27 Question Id : 68634019672 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aNi & g1 & W& &t [l 4 Fafafad 3 9 oF d axg Uil 9% @A & [ Sudi Al &1 St

A

1.3
heer UmR

c

3.9dd

| ]

4. IRBIA (AR )

Options :

68634077705. 1
68634077706. 2
68634077707. 3
68634077708. 4

Question Number : 28 Question Id : 68634019673 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Kenzo Tange developed the concept of -

1. Deconstructivism

()

. Arcology
3. Metabolism

4. Anamorphosis

Options :
68634077709. 1
68634077710. 2



68634077711. 3
68634077712. 4

Question Number : 28 Question Id : 68634019673 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il SR 1 Il SAURUT fasid &1 -

1. Sl HegaRH

R
 HeTaferfom

| ]

[ 5]

4. YRR T (SGYRUI =GN

Options :

68634077709. 1
68634077710. 2
68634077711. 3
68634077712. 4

Question Number : 29 Question Id : 68634019674 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Name the fort of Rajasthan that 1s known as 'Sonar Kila'

1. Kumbhalgarh fort

| ]

. Jaisalmer fort

. Mehrangarh fort

Lad

4. Nahargarh fort

Options :

68634077713 1
68634077714. 2
68634077715. 3
68634077716. 4

Question Number : 29 Question Id : 68634019674 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I & fg fopd &1 91 &1 fopar (@ &1 91d1 §) Hel Tal o

[r—y

. HTTE DI fbar
SR & fopam

 HEXHTIE @l f[da

| ]

[ 5]

4, AT8NG P [l

Options :

68634077713. 1
68634077714.2
68634077715. 3
68634077716. 4

Question Number : 30 Question Id : 68634019675 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following monuments are under UNESCO world heritage site ?

A. Temples of Khajuraho

B. Lotus temple, New Dells

C. Kamakhya temple .Assam

D. Brihadeeshwara temple .Thanjavur

choose the most appropriate answer from the option given below :
1. A only

2.B & C only

[F¥]

.D & C only
4. A& D only

Options :

68634077717. 1
68634077718. 2
68634077719. 3
68634077720. 4

Question Number : 30 Question Id : 68634019675 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrafead TR®! & ¥ g-e] g1 9y eRIg & S{avid g g

A, GOgl o1 dfeR
B. dled ¢, T facell
D. §E4R HidR , dulgR
-9 U Tt faeedl § 9 9ad Sugad STR &1 99 SHIfo-
1. %dd A
FHAAB AR C
. Fa@D AR C

4. %dd A AR D

Options :

68634077717. 1
68634077718. 2
68634077719. 3
68634077720. 4

| )

[#5]

Question Number : 31 Question Id : 68634019676 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Griha 1s rating for green building given by:

1. The Energy Research Institute

[ )

. Ministry of Power
3. Bureau of Energy Efficiency

4. IGBC

Options :

68634077721. 1
68634077722. 2
68634077723. 3
68634077724. 4

Question Number : 31 Question Id : 68634019676 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



7T, UF SARA & forg &t o arelt ST E o 3t 8
1. Boll ST SR

. fererett T

Gl & S

4, 375 ot @l 9

Options :

68634077721. 1
68634077722.2
68634077723. 3
68634077724. 4

| ]

[ 5]

Question Number : 32 Question Id : 68634019677 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

National Capital Region 1s spread over

1. Union Territory of Delhi

| )

. Delhi and part of Uttar Pradesh

L% ]

. Delhi and part of Haryana

4. Union territory of Delhi .Part of Uttar Pradesh .Part of Haryana and Rajasthan

Options :

68634077725. 1
68634077726. 2
68634077727. 3
68634077728. 4

Question Number : 32 Question Id : 68634019677 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. g R Yo fae
. Taedl 3R ITR Wem o1 4
el #fR gl &1 44w
4. g AR Yo !, SR WS 1 4T, IS SR SRAT0N &1 HH

Options :
68634077725. 1

| ]

Lad



68634077726. 2
68634077727. 3
68634077728. 4

Question Number : 33 Question Id : 68634019678 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The focus of Florence charter 1s -

1. Conservation of places of culture Significance

[

. Conservation and restoration of Monuments & Sites.

. Conservation of historic town

s

4. Conservation of historic gardens.

Options :

68634077729. 1
68634077730. 2
68634077731. 3
68634077732. 4

Question Number : 33 Question Id : 68634019678 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
URIRE 9T &1 & [ IR g -
il A=Y SR R BT Ha
. WR&] @1 g FHiur &R @
UfeIe =Rl &1 TRl
4. UfeTfis uret &1 Tem
Options :
68634077729. 1
68634077730. 2

68634077731. 3
68634077732. 4

-

)

Lad

Question Number : 34 Question Id : 68634019679 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



An applied science of Design conserving universal human character and configurations aiming at effective
utility and safety 1s called .

1. Anthropometry

()

. Universal Design

. Parametric Design

L]

4. Biophilic Design

Options :

68634077733. 1
68634077734. 2
68634077735. 3
68634077736. 4

Question Number : 34 Question Id : 68634019679 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IV [a3H 1 =1 & SIER dfa® T & 9RA IR (9014 S yurdl Sugiidr iR gRa =1
PEard

1. AR
3. Gfafes TRa
4, 941 o fard TR=AT

Options :

68634077733. 1
68634077734. 2
68634077735. 3
68634077736. 4

| )

Question Number : 35 Question Id : 68634019680 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the renewable energy Commonly sourced at residence level.

1. Solar

[

. Wind
3. Tidal

4, Geo Thermal

Options :



68634077737. 1
68634077738. 2
68634077739. 3
68634077740. 4

Question Number : 35 Question Id : 68634019680 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT WR R 999 AR R e ardt Ardet sxofia S o @ g
1. g Sel

ga Sl

3. SaR el

4. 4:a

| B

Options :

68634077737. 1
68634077738. 2
68634077739. 3
68634077740. 4

Question Number : 36 Question Id : 68634019681 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The book by Ebenezer Howard published in 1898 and Relevant today as well-
1. To-morrow: A peaceful path to Real Reform.
2. Garden eity of To-morrow

. Model Garden cities of To-morrow

T

4, Garden Suburb of London

Options :

68634077741. 1
68634077742. 2
68634077743. 3
68634077744. 4

Question Number : 36 Question Id : 68634019681 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TSR glAS' & GRI 1898 T U Jxad ford! ol &1 ¥ fhed! 3
TART : U Ypd Uy g {gd Rer

TTeA RS 3 2o

3. Tsd e ReTe 3% cARI

[a—y

[

4, TS HaH S5 R

Options :

68634077741. 1
68634077742. 2
68634077743. 3
68634077744. 4

Question Number : 37 Question Id : 68634019682 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The 73 and 74™ constitution Amendments Pertain to

1. Abolishing urban land ceiling Act Panchayat

()

. Providing more responsibilities to Municipal and local bodies for planning and development

[F¥]

. Providing restricted role to rural courts to settle rural disputies.

4. Providmg right to information for the general people

Options :

68634077745. 1
68634077746. 2
68634077747. 3
68634077748. 4

Question Number : 37 Question Id : 68634019682 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TfauF H 73 a1 3R 74 af TReA 5 =i -
TR SHIA G B JA BT
 Oreraff 3R e & fau damd ok TR aifersTsd & fSreRt agr
1T 3 TS| 1 g H g1 U U=l 1 i Riha e
4. 3 STEHl B G BT HTSR &A1

Options :
68634077745. 1

[a—y

| ]

L]



68634077746. 2
68634077747. 3
68634077748. 4

Question Number : 38 Question Id : 68634019683 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Indus Valley Civilization 1s Specially known for :-

1. Vaulted roofing in Masonary

2

. Underground dramage system

s

. Great palaces

4. Stone carvings of idols

Options :

68634077749. 1
68634077750. 2
68634077751. 3
68634077752. 4

Question Number : 38 Question Id : 68634019683 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

femy Bt v o R wis &

1. [I1S, %1 aTee &t @a
 YIEATd SId el ot
R HERJIC]

4. GRR] IR A9HR (TR IR g FamRil)

Options :
68634077749. 1
68634077750. 2

68634077751. 3
68634077752. 4

)

Lad

Question Number : 39 Question Id : 68634019684 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Banyan tree .Peepal tree, Imli tree and Ashok tree are preferred on road side Plantation
Reason R: They are considered for thewr likely potential for pollution control.

in the light of the above statements .choose the most appropriate answer from the option given below.

1. Both A and R are true and R 1s the correct explanation of A

[

. Both A and R are true but R 1s NOT the correct explanation of A
3. A 15 correct but R 13 not correct

4. A 15 not correct but R 15 correct

Options :

68634077753. 1
68634077754. 2
68634077755. 3
68634077756. 4

Question Number : 39 Question Id : 68634019684 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= g A QU T §, U Sffifeys A S &0 H [Rad 8 df GHR1 39 PRUIR & &4 1
TUBYT A: STTE BT TS, UITd BT U5 3R (D B IS Y5 & [T T Y &l ¢
BRI R: I TS 59 [0 T 91 T 1T g0 0 B $I GG TGl 2|
SIS HYH & Tl |, = f3U 7 fadedl § 9 969 Sugad IR &1 994 HifoIg:
1. ASIRR EFI H81 § SRR, A DI Ug! ARAT B
A SRR I 981 § IR R. A DI TSI AT 81 &
AT AFTRAG TE R
ATEITRIgAPTR Wl §

Options :

68634077753 1
68634077754. 2
68634077755. 3
68634077756. 4

| ]

L]

e

Question Number : 40 Question Id : 68634019685 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following generate heat Island ?

1. Urban Area

()

. Coastel Area
3. Wet land

4. Desert Land

Options :

68634077757. 1
68634077758. 2
68634077759. 3
68634077760. 4

Question Number : 40 Question Id : 68634019685 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Afreaigd & ¥ ®H-91 7 g9 s91ar g2
1. TE3 &

Options :

68634077757. 1
68634077758. 2
68634077759. 3
68634077760. 4

Question Number : 41 Question Id : 68634019686 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the full form of PERT 7

1. Project Evaluation Review Technique

()

. Programme Evaluation Rating Technique
3. Programme Evaluation Review Technique
4. Project Evaluation Rating Technique
Options :

68634077761. 1
68634077762. 2



68634077763. 3
68634077764. 4

Question Number : 41 Question Id : 68634019686 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634077761. 1
68634077762 2
68634077763. 3
68634077764. 4

Question Number : 42 Question Id : 68634019687 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As per India Road Congress the "Width of formation' of National highway in plain land 1s:

1.6.0m

2

L12.0m

15.0m

L]

4. 18.0m

Options :

68634077765. 1
68634077766. 2
68634077767. 3
68634077768. 4

Question Number : 42 Question Id : 68634019687 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SISU1 S BIUY B SER AP AR B1 FHAA H-HFT H fha-l 9I81s sl 91igy?
1. 6.0 Hex

L] | ]
— —
'__nl"l !-\_J
= =

4. 18.0 Hiex

Options :

68634077765. 1
68634077766. 2
68634077767. 3
68634077768. 4

Question Number : 43 Question Id : 68634019688 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following are the elements of Mosque architecture .

A, Minbar
B. Mandala
C. Qibla
D. Mehrab
E. Vihara

l.LAand D

2. AandC
3.A,B,and C
4 A CandD

Options :

68634077769. 1
68634077770. 2
68634077771. 3
68634077772. 4

Question Number : 43 Question Id : 68634019688 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrafeiRad 33 ©H-91 da s g Hal d Feidd &-
A FHER
B. O3l
C. foaar
D. He3d
E. fagr
i U U [dded! | ¥ Yol 3tk & 994 Sy
1. A3RD
ASIRC
CA.B.3RC

4. A C3RD

Options :

68634077769. 1
68634077770. 2
68634077771. 3
68634077772. 4

| ]

[#5]

Question Number : 44 Question Id : 68634019689 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following trees has columnar form?

1. Delonix Regia

[ )

. Tamaribdus indica
3. Polyalthia Longifolia

4, Callistemon Lanceolatus

Options :

68634077773. 1
68634077774. 2
68634077775. 3
68634077776. 4

Question Number : 44 Question Id : 68634019689 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FrofafEa & o1H-m Us &) WHeR §
1. Sar-eg e

K
%

4, BRI afdacey

Options :

68634077773. 1
68634077774. 2
68634077775. 3
68634077776. 4

Question Number : 45 Question Id : 68634019690 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Islamic Architecture. the circular dome was constructed over a square configuration through

1. Grid iron coffered slab.

()

. Pendentives and squenels Arches.
3. Double Barrel Vault and Jack Arches

4. Horizontal Cross tie members

Options :

68634077777. 1
68634077778. 2
68634077779. 3
68634077780. 4

Question Number : 45 Question Id : 68634019690 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

xS aRgadl 8 69 & gRI U@ FNeR [0 & S0 UP PR 1§g s/ ol o
1. S 3IRA HIHIS W
3. B9 oXd dlee UUS Ol T

Options :
68634077777. 1

| ]

e



68634077778. 2
68634077779. 3
68634077780. 4

Question Number : 46 Question Id : 68634019691 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In case of residential apartments .the effective floor area available for use within an apartment .1s know as:

1. Carpet Area

[

. Built up Area

. Plinth area

s

4. Super Built up area

Options :

68634077781. 1
68634077782. 2
68634077783. 3
68634077784. 4

Question Number : 46 Question Id : 68634019691 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U® ATaM Oei< & e . smici= & < 1 YU Y &1 8905 d ol S9d & o gaid ©,
IO T Sl ol Bl

. @Ide g
iy Ui
YR foree-3g ufean

Options :

68634077781. 1
68634077782. 2
68634077783. 3
68634077784. 4

[—

| B

Lad

e

Question Number : 47 Question Id : 68634019692 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The munimum road curb length required for parking .10 cars perpendicular to the road 1s:
1.15m

2.25m

]
i
=
=

4, 50m

Options :

68634077785. 1
68634077786. 2
68634077787. 3
68634077788. 4

Question Number : 47 Question Id : 68634019692 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y5 R Ulich1] & 10 1 | S U= el fha-! el 9iiet Siaid 10 BN HS& & qrad o
15 HleX
25 1R
3. 40 HIeR
4. 50 Hiex

Options :

68634077785. 1
68634077786. 2
68634077787. 3
68634077788. 4

[—

| ]

Question Number : 48 Question Id : 68634019693 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : Concept of serial vision has been applied to the layout of Rashtrapati Bhawan Complex New
Delhi.

Statement IT : Rashtrapati Bhawan Complex was designed by Edwin Lutyen.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement I are correct

()

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II 1s incorrect

4. Statement [ is incorrect but Statement I1 1s correct

Options :

68634077789. 1
68634077790. 2
68634077791. 3
68634077792. 4

Question Number : 48 Question Id : 68634019693 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A1 &l B fRu Ty :
HU 1 75 fgeail § YUl 4o URER 1 9 3@ GOR B & [0 g5 T9ad ar] [Hul
TYA I1- 'TS(a7 e - APl IRER B =41 daR @i o
ORI Y & ATl H, A= f3u T fadedl § 9 969 Sugad IR &1 99 ST

1. PYF I AR BYT IS A &

2. BYF I IR BYF I SHT T &

3. BYTI 9T B, APTBYT I ITT©

4 PYIITI L. T YT I IT ©

Options :

68634077789. 1
68634077790. 2
68634077791. 3
68634077792. 4

Question Number : 49 Question Id : 68634019694 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Bahai Temple in Delhiis a

1. Tensile Structure

[

. Shell Structurs

. Pneumatic Structure

s

4. Space Structure

Options :

68634077793. 1
68634077794. 2
68634077795. 3
68634077796. 4

Question Number : 49 Question Id : 68634019694 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
feedl @1 agTS HidY T -

CHIEA A §

RN EIEI

Ufewm gare

4. WHEHETE

-

)

Lad

Options :

68634077793. 1
68634077794. 2
68634077795. 3
68634077796. 4

Question Number : 50 Question Id : 68634019695 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The minimum area of a combined bath and W.C, as specified in the National Building code of India is-

1. 2.5 Sqmt

()

. 2.8 Sqmt

[F¥]

3.0 Sqmt
4. 3.2 Squmt

Options :
68634077797. 1



68634077798. 2
68634077799. 3
68634077800. 4

Question Number : 50 Question Id : 68634019695 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[

A9 fafeET DS & SR 9S §U WHNIR IR Y= & g g=dd &3 741 8-
1.2.5 T Hle

2.8 FBle

3.0 FHlE

4. 32 Flwle

Options :

68634077797. 1
68634077798. 2
68634077799. 3
68634077800. 4

| B

[#5]

Question Number : 51 Question Id : 68634019696 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is an important Variable to study for urban planning so as to develop Urban
infrastructure.

1. Land use planning

[ ]

. Noise Mapping

. Vegetation Mapping

Laa

4. Activity Mapping

Options :

68634077801. 1
68634077802. 2
68634077803. 3
68634077804. 4

Question Number : 51 Question Id : 68634019696 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ed] uRaie @1 e & SHHR WEdl [ahrE &1 STURYd W3 & U B | YR 969 ka1l g |
1. YfE SUGRT AT

s At

3. T AFRE

4, QTS Tey A=

Options :

68634077801. 1
68634077802. 2
68634077803. 3
68634077804. 4

| ]

Question Number : 52 Question Id : 68634019697 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"V7' Concept given by Le Corbusier refers to :

1. Neighbourhood Planning.

()

. Housing Typologies
3. Hierarchy of Roads

4. Transport Planning

Options :

68634077805. 1
68634077806. 2
68634077807. 3
68634077808. 4

Question Number : 52 Question Id : 68634019697 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ol SR & GRI 2 TS V7 YR 5 wefdfd et )
1. OGS TI8ulars!
11 R e AR S

3. TSP BT UG

4. UG Treir

Options :
68634077805. 1

[




68634077806. 2
68634077807. 3
68634077808. 4

Question Number : 53 Question Id : 68634019698 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In G IS the set of entities represting Vector data type 1s

1. Pomt , Line, Polygon, Tin

[

. Pixel. Voxel

. DEM, DSM., DTM

s

4. Coordinates . Elevation slope

Options :

68634077809. 1
68634077810. 2
68634077811. 3
68634077812. 4

Question Number : 53 Question Id : 68634019698 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ot TS U H dge. 31 & YR &1 ufaffetg & are Swenafi o s
BEERGAGIER
. SigH, SI.TH. ¢\, L3 @,

4, dH-dY, JAYA ol

-

)

Lad

Options :

68634077809. 1
68634077810. 2
68634077811. 3
68634077812. 4

Question Number : 54 Question Id : 68634019699 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The fire rating of Remforced glass doors. 1s expressed m.

1. Kcal

()

. Hour
3. Watt

4, Lux

Options :

68634077813. 1
68634077814. 2
68634077815. 3
68634077816. 4

Question Number : 54 Question Id : 68634019699 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Jaferd Sid & axare o, SN 9 Wi & HuRuy fdwd od € |

1. Keal

e

[ ]

3.dIc

4.8

Options :

68634077813. 1
68634077814. 2
68634077815. 3
68634077816. 4

Question Number : 55 Question Id : 68634019700 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A class room of 12 mt » 25 mt = 4 mt requires 3 air changes per hour (At an air Veloeity of 2m/s, the necessary

. pu Ty v
duct corss section (1m m~) is -
1. 0.50
2.0.75

. 1.00

L

4.1.25

Options :
68634077817. 1



68634077818. 2
68634077819. 3
68634077820. 4

Question Number : 55 Question Id : 68634019700 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fort Ta & SHL BT B 12 11, « 25 11, « 4 1. 8 79 ga1 950+ & o0 3 °¢ & S=<d g gaT &f
a2 dt. / 9FS § @ So¢ BT IR ST @r g

1.0.50

)
2
a
A

4.1.25

Options :

68634077817. 1
68634077818. 2
68634077819. 3
68634077820. 4

Question Number : 56 Question Id : 68634019701 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is not a requirement for fire exit ?
1. Entrance to the fire escape shall be separeted and remote from the internal staircase

2. The route to fire escape shall be free of obstructions at all times except the doorway leading to the fire
escape which shall have the required fire resistance

L]

. Fire escape should be located in the centre of the bldg

4. Fire escape should be constructed of non combustible material

Options :

68634077821. 1
68634077822. 2
68634077823. 3
68634077824. 4

Question Number : 56 Question Id : 68634019701 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafafad § O o9 te snawgs A Regagie 2
S MY g3 R ¥ a1 8141 T8 U AR Haie wifgal 9 91 g1 91igy

3% i o I H Tt ofi g Big vepTae 81 Bl F1eT SR Sl gt ¥ (e & e
SITdT & 98 aarall SR SaRifed g1 9ied|

- 3 FP SHRA & did | 8H1 91gu|
4, 3 BT g9 TR Saa-Lid et T &1 g1 91ed|

Options :

68634077821. 1
68634077822. 2
68634077823. 3
68634077824. 4

[r—y

| ]

faa

Question Number : 57 Question Id : 68634019702 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange these Architecture Style According to time line

A, Baroque

B. Gothic

C. Renaissance
D. Romanesque
E. Modern

choose the correct answer from the option given below :

1.D.B,CAE

| ]

CACBED
3.D.BACE

4. DB.C.EA

Options :

68634077825 1
68634077826. 2
68634077827. 3
68634077828. 4

Question Number : 57 Question Id : 68634019702 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y @] & TR ar] Hal Ll Bl @

A WP
B. TfU®
C. IHT
D. IFT®
E. O1ed
i 50 70 [ddedl | ¥ 9ol 39 & 99 Sl

1. D.B.CAE

| ]

JACBED
3.D.BACE

4. D.B.C.EA

Options :

68634077825. 1
68634077826. 2
68634077827. 3
68634077828. 4

Question Number : 58 Question Id : 68634019703 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I{Ancient Architecture) |LIST II{Structure)

A |Greek Architecture 1. |Parthenon
B. |[Roman Architecture II. PMastabas
C. [Egvptian Architecture II1. |Ziggurat
D. Mesopotamian Architecture] I'V. [Pantheon

Choose the correct answer from the options given below:

1. A-II. B-1, C-III, D-IV

| ]

CA-L B-IOOL C-I1, D-IV
3. A-L B-IV. C-I1. D-III

4. A-II. B-IV. C-I. D-III

Options :

68634077829. 1
68634077830. 2
68634077831. 3
68634077832. 4



Question Number : 58 Question Id : 68634019703 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 1 1 =l 11 ¥ fier ifeg
I II
A e aRged! Lol
B. R Tl GESET
C R5E I [SPRd
D. [HyulerHE argdd [ IV. [u-isi
frafeiad fadel 5 9 98t 9Tk &1 991 ST

1. A-II. B-1. C-III. D-IV

)

. A-L. B-IIL. C-I1. D-IV

CA-L B-IV, C-I1. D-III

[#5]

4. A-I1. B-IV, C-1. D-III

Options :

68634077829. 1
68634077830. 2
68634077831. 3
68634077832. 4

Question Number : 59 Question Id : 68634019704 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LIST I{TRAPS) LIST II{Areas)
AP Trap I. |lnspection chamber
B. |Gully Trap II. |Bathroom
C. |Bottle trap I11. [Indian W.C
D. |[Nahani trap IV, [Wash basin

Choose the correct answer from the options grven below:

1. A-IIL, B-IV. C-I . D-II

)

AL B-IL C-IV, D-II
3. AL B-IV, C-II, D-IIT
4. A-II. B-I, C-IV ., D-III
Options :

68634077833. 1
68634077834. 2



68634077835. 3
68634077836. 4

Question Number : 59 Question Id : 68634019704 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt 191 = 11 ¥ e Sifse

-\:g I '\‘E‘ZII
] - %:E[ I [[H3&0 e {Inspection chamber)
el - <0 L [GH W
@led - ¢d 1L YR T=rad
AgM-¢u | IV, [9r8 e

frafead famedl § T Wl SR & =g S ;

1. A-ITT. B-IV, C-1, D-I1

ofo]w]s

| ]

AL B-IL C-IV , D-II

CA-IB-IV, C-II. D-III

L

4. A-II. B-L. C-IV . D-III

Options :

68634077833. 1
68634077834. 2
68634077835. 3
68634077836. 4

Question Number : 60 Question Id : 68634019705 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The essential difference between CPM and PERT is:

1. Critical Path Vs Critical activity

()

. Arrow notation Vs Notation precedence

[F¥]

. Deterministic approach Vs Probalistic approach
4. Project Monitoring Vs Network Analysis

Options :

68634077837. 1
68634077838. 2
68634077839. 3
68634077840. 4



Question Number : 60 Question Id : 68634019705 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
diiied iR 91, 3. IR, < (PERT) H a9 AR F 6|

1. fopfed ure & (939G fhfcaa nfafafey

-J

AR Hihfdd 8 & fdvg R Fidlas =g
FraEs S RE & [dvs IER EHi
4. Violge &1 3@ 3@ & [G9g Jead TAnary

Options :

68634077837. 1
68634077838. 2
68634077839. 3
68634077840. 4

Lad

Question Number : 61 Question Id : 68634019706 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A small commercial plot measuring 20 meter »* 30 meter is subjected to maximum ground coverage of 60%
and FAR 300 with Fullest land utilisation and uniform floor areas .how many floors can be built on the plot ?

1. Six

[ )

. Three
3. Five
4. Ten

Options :

68634077841. 1
68634077842. 2
68634077843. 3
68634077844. 4

Question Number : 61 Question Id : 68634019706 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U BIe VS WIE DI A UR 20H1eR « 30 Hex UrIl 7141, fSRaT FAR 300 § 31R 60 UORId $d FAR
BT YA IR T BYb THIOR Hag &7 B ITURT B @Ie H Hd (dba-i| Hiad a-Tg ol 9! o7

1.6

)
LF¥)

L
"

4. 10

Options :

68634077841. 1
68634077842. 2
68634077843. 3
68634077844. 4

Question Number : 62 Question Id : 68634019707 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LIST I LISTII
A Hall of Nations, New Dellu I. |Spherical Structure
B. |Salvacao church. Mumbai II. |Shell Roof Structure
C. |State trading Corporation Building, New Delhi | IIL. |Octahedral Lattice Structure
D. Patri Mandir, Auroville IV, [Vierendesl Structure
Choose the correct answer from the options given below:

1. A-IIL, B-II. C-IV. D-I

| )

A-IL B-IIL C-IV, D-I
3. A-IILL B-1, C-IV, D-I1

4. A-IIIL B-1V, C-I1, D-1

Options :

68634077845. 1
68634077846. 2
68634077847. 3
68634077848. 4

Question Number : 62 Question Id : 68634019707 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt 191 = 11 ¥ e Sifse

T 1 T 11
A [BTd 1% 99H. T faeeh I iR e
B. [Oar®l @<, 08y . Bid &% ol
C. [&2e 187 HUREH fafeeq, 5 feeat | 111 [siiaer ega dfed g
D. [A7a1 #fez, 3Rifad IV [[gaeia fiReg

FEfaRad e edl § 9 9ol 3 &1 994 S0

1. A-ITL. B-II. C-IV, D-I

[ ]

CA-TLL B-II0L, C-TV, D-I

CA-IILL B-IL C-IV, D-II

L V]

4. A-IIL. B-IV, C-II. D-I

Options :

68634077845. 1
68634077846. 2
68634077847. 3
68634077848. 4

Question Number : 63 Question Id : 68634019708 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
Brinda Somava [. PMMuseum of Tribel Hentage Bhopal
Shrila Sai Prakash| II. |St. Thomas cathedral Mumbai
F.evathy Kamath | II1. [Bait-ir-Rauf Mosque , Dhaka
Marina Tabassem | IV, [Cholamandal Artist's Village Chennai

o|ofw[>

Choose the correct answer from the options given below:

1. A-II. B-1. C-IV. D-III

| ]

CA-IL B-IV. C-1L D-III
3. AL B-I, C-III, D-IV

4. AL B-I. C-I1. D-IV

Options :

68634077849. 1
68634077850. 2
68634077851. 3
68634077852. 4



Question Number : 63 Question Id : 68634019708 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 1 1 =l 11 ¥ fier ifeg

T 1 T I
GIER Gk SARA
a1 9 I [3Gardt [qRed Suee™
e 15 U | 1L [Ue 4y $yed, dag
THY |01 [§2-RIH A9g, gdl
WA deds |1V [@idHsd didR i 9ds

fFafeiad [deedl § O Og! ST &1 94 i -

1. A-II. B-I. C-IV. D-III

ofo]w[s

)

CA-IL B-IV, C-1. D-III

CA-ITL B-LL C-ITLL, D-IV

[#5]

4. A-II1. B-1. C-I1. D-IV

Options :

68634077849. 1
68634077850. 2
68634077851. 3
68634077852. 4

Question Number : 64 Question Id : 68634019709 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange these Temple according to their Period

A Lmgraj Temple. Bhubaneshwar
B. Sun Temple . Modhera . Gujrat
C. Shore Temple .Mahabalipuram
D. Taj mahal . Agra

E. Ajanta /Ellora Caves

choose the correct answer from the option given below:

1.ECBAD

[ S

.E.C,AB.D

.C.AED.B

L% ]

4. CEAB.D

Options :
68634077853. 1
68634077854. 2



68634077855. 3
68634077856. 4

Question Number : 64 Question Id : 68634019709 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i U v a1 &1 9Hy = & 3R el shH H T ;

A. TR HfeR, YaiaR
B. %iﬂﬁ? e, TRt
C. YR AR, Heeeigzy
D. dIsl Hgdl, 3R]

4 feu U f[dsedl § O U8l 3R &1 984 i |

1.E.CB.AD

2.E.CAB.D
3. CCAEDB

4 CEAB.D

Options :

68634077853. 1
68634077854. 2
68634077855. 3
68634077856. 4

Question Number : 65 Question Id : 68634019710 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange these Architects according to the year they won Pritzker Architecture Prize in descending order.

A. Arora Isozaki
B. B.V Doshi

C. Jean Nouvel
D. Zaha Hadid
E. Frei otto

choose the correct answer from the option given below:

1. AD.CB.E

| )

.B.AE.C.D
3. ABE.CD

4. ABCDE

Options :



68634077857. 1
68634077858. 2
68634077859. 3
68634077860. 4

Question Number : 65 Question Id : 68634019710 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AER A o au & aRgee o1 [y [REPR Sildl § 39 S8R 9ed g3 oH § gl

A. &t gt gt
B. 59 Aldd

C. Sel galg
D. Tl 2ffet
i [0 0 [ddedl | ¥ Tl 3R & 994 SOl |

1. ADCB.E

| ]

.B.AECD
3. ABECD

4. AB.CD.E

Options :

68634077857. 1
68634077858. 2
68634077859. 3
68634077860. 4

Question Number : 66 Question Id : 68634019711 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST 1T
A [Simply supported Brnidge| 1. [Howrah Bradge, West Bengal
B. |Arch Bridge II. |Rajendra Setu | Bihar
C. |Suspension Bridge II1. |Svdnev Harbor Bridge
D. |Cantilever Bridge IV. [Brooklyn Bridge, New vork
Choose the correct answer from the options given below:

1. A-III, B-1I, C-1, D-IV

| ]

CA-IL B-IV. C-IIIL D-1

3. A-IIL B-IV, C-II, D-1

4. A-II. B-IIL. C-IV, D-I



Options :

68634077861. 1
68634077862. 2
68634077863. 3
68634077864. 4

Question Number : 66 Question Id : 68634019711 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 191 g1 11 9 o Hifee

gl 1 T 11
e guics fgw | 1 [Bras f9e, uids s
HID a9 11 RTois ¥g, 48R
M foe 111 [T gTaR foel
BRARICHEE] V. [g@ieH f9e gaia

fFafead Aeedl § O T8l IR &1 904 i -

1. A-IIL. B-1II. C-I, D-IV

=l kel ol N

)

AL B-IV. C-II1, D-I
3. A-IT1. B-TV. C-1I, D-1
4. A-T1. B-111. C-IV, D-1

Options :

68634077861. 1

68634077862. 2

68634077863. 3
68634077864. 4

Question Number : 67 Question Id : 68634019712 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements of some famous Architects

Statement I : 'Less i3 more'-statement 1s given by Mies Van der Rohe.

Statement IT : 'Less 1s bore'-statement 1s given by Tadao Ando

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct

[ )

. Both Statement I and Statement II are incorrect

. Statement I is correct but Statement II 15 incorrect

L]

4, Statement [ 1s incorrect but Statement II 1s correct



Options :

68634077865. 1
68634077866. 2
68634077867. 3
68634077868. 4

Question Number : 67 Question Id : 68634019712 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e & e fRu Mg &
®YA - T 39 AR TS 9 S R e T
HYF - T 30 R DY s TSr gRI i i
SURIGT Y & 3fTalid H, i fQU U fdsheni & 9 Tad Sugad SR &1 994 S

1. FYT IR PUT I SF 9T &

)

YT AR DY ST ST S

HYTI I8, AT HYT I 3T ©

Lad

4. PYTI TGI8, AT PYT I TT B

Options :

68634077865. 1
68634077866. 2
68634077867. 3
68634077868. 4

Question Number : 68 Question Id : 68634019713 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'Dumb waiter' 1s a type of :

1. Robot

()

. Lift

. Escalator

[F¥]

4. Dish washer

Options :

68634077869. 1
68634077870. 2
68634077871. 3



68634077872. 4

Question Number : 68 Question Id : 68634019713 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 IR frve yoR @
1. Y&l
fere
TR

4. f&9 R

)

Lad

Options :

68634077869. 1
68634077870. 2
68634077871. 3
68634077872. 4

Question Number : 69 Question Id : 68634019714 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Desirable spacing of trees along highway is:
1. 3m to Tm
2. 9m to 15m

.20m to 25m

L]

4, 20m to 30m

Options :

68634077873. 1
68634077874. 2
68634077875. 3
68634077876. 4

Question Number : 69 Question Id : 68634019714 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TSl HIT o 1Y T 1ol gafl i Sird e a1 6 -
138 g 7

Cofl. F 15 Hl.

3.20 91 H 25 Hl.

4,20 11, ¥ 30 HI,

Options :

68634077873. 1
68634077874. 2
68634077875. 3
68634077876. 4

| ]

Question Number : 70 Question Id : 68634019715 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Urban planning Cohort refers to:

1. Age and sex classification of population

()

. Contour levels in slop analysis
3. Land use classification of population

4. Soi1l Layer classification

Options :

68634077877. 1
68634077878. 2
68634077879. 3
68634077880. 4

Question Number : 70 Question Id : 68634019715 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qTel Xl uRAeHT § BIgIE (ST SgYd Hdl ¢ -
1. 317 3R T & SR UR ST BT D0

| ]

B ER W A B Sid S
3. SHEEIT & HIYR R IULRT B & g o1 &7 arfiepu
gl 1 gagl @1 afferu

Options :
68634077877. 1

s



68634077878. 2
68634077879. 3
68634077880. 4

Question Number : 71 Question Id : 68634019716 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
A [Index plan L Demﬂf of P_iUHEbmg service, water
supply and sewage
The relative position of all the different
umnit

B. [Key plan 1L

The general lavout of a new town
C. |Service plan II1. showing the position of roads,
imarket, hospitals etc

D. [Lavout plan IV [Details of the particular building

Choose the correct answer from the options given below:

1. A-IV. B-11I, C-II, D-I

| ]

AL B-IV. C-1. D-1I

CA-IL B-1L C-I1. D-IV

L]

4. A-IV, B-1. C-1I. D-III

Options :

68634077881. 1
68634077882. 2
68634077883. 3
68634077884. 4

Question Number : 71 Question Id : 68634019716 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt 191 = 11 ¥ e Sifse

T 1 = I
Se@H | I A9 9o, Semdfd iR 59 @l AR
@ @ IL [qafi faftrs sorsal @t ame RS
Tem!, araRl AR AROdrl 3G F1
e (I R G U 90 7R &1 9 0 3l
33 A | IV. [[afRIF 3ARd &1 fdazu

FHafeiad fdpedl § U Ugl 3R &1 9049 Iy -

1. A-IV, B-I11, C-IT, D-I

of o [w[e

[ ]

AL B-IV. C-1. D-I

- A-IIL B-L. C-I1. D-IV

L

4. A-IV, B-I. C-II. D-III

Options :

68634077881. 1
68634077882. 2
68634077883. 3
68634077884. 4

Question Number : 72 Question Id : 68634019717 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R
Assertion A: The Architecture was in its prime about 2000 years ago in Ancient India.

Reason R:At Bhitargaon m Uttar Pradesh a tower was built on the top of garbhagriha, know as Shikharas
which required careful planning.

In the light of the above statements. choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

| ]

. Both A and R are true but R 1s NOT the correct explanation of A
3. A s true but R is false

4, A 15 false but B 1s true

Options :

68634077885. 1
68634077886. 2
68634077887. 3
68634077888. 4



Question Number : 72 Question Id : 68634019717 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=T 21 HYF [SU L §: UF iU (Assertion A) & &0 7 [AREd § O G¥RT 3HP PRUI (Reason R) P
0 H;

HTUFHYT A: 2000 T Jd U YRA H aRgHl S0 I=909 W IR 41

PRI R: IR Wa¥ & [§eR 7iid # 74 18 & SR US HHR a-13 715 o4 FRRaR & 714 § &1 o1l 8
fores fa 9gd T gde dreH g1 x|

SURIGT Y & 3fTalid H, i fQU U fdsheni & 9 Tad Sugad SR &1 994 S
1. AR REH T8l & AR R AT el I &
2. A 3R R €T UET 8 SRR, A &1 el e T 8

3. ATRIE Afpa R TSI TG ©

4 AFSI TR APIR T &

Options :

68634077885. 1
68634077886. 2
68634077887. 3
68634077888. 4

Question Number : 73 Question Id : 68634019718 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following in ascending order of width :

A. Collector Street
B. Arterial Road

C. Local Street

D. Sub Arterial Road

choose the correct answer from the option given below :
1.ABD.C
2.CBD.A
3.B.D,CA

4. BDAB

Options :
68634077889. 1
68634077890. 2



68634077891. 3
68634077892. 4

Question Number : 73 Question Id : 68634019718 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AI8Ts & AR F6d I H W :

A, BAFR GSP

B. 3M1cRgd g (WHdl 4g)
C. dPd KT

D. Td AERTd 985

Hid U 770 f[deed 1 ¥ 9ol 3w &1 994 Bl

1.AB.D.C

| ]

.C.B.D.A
3.B.D.CA

4. B.D.AB

Options :

68634077889. 1
68634077890. 2
68634077891. 3
68634077892. 4

Question Number : 74 Question Id : 68634019719 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Broad acre city was proposed by

1. Ebenezer Howard

[ E]

. C.A Doxiadis

L%}

. Frank Lloyd Wright

4. Le Corbusier

Options :

68634077893. 1
68634077894. 2
68634077895. 3
68634077896. 4

Question Number : 74 Question Id : 68634019719 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



J1S Udh s WIg [y yaliad foedr o |
1. U sediufsy

T dlgs Tec

4. T BIYRRR

Options :

68634077893. 1
68634077894. 2
68634077895. 3
68634077896. 4

-

| ]

Lad

Question Number : 75 Question Id : 68634019720 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Surkhi 13 obtained by grinding
1. Well burnt clay bricks
2. Slag from industry
3. Rocks

4. Rice husk

Options :

68634077897. 1
68634077898. 2
68634077899. 3
68634077900. 4

Question Number : 75 Question Id : 68634019720 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
feparast forams & TRt wre it 8
1. (=31 OXE ¥ USD! g3 (el Bl g
T e gai i
HeM
4. 919 I ferat

Options :
68634077897. 1

| ]

L]



68634077898. 2
68634077899. 3
68634077900. 4

Question Number : 76 Question Id : 68634019721 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The age of a tree 1s determined by :

1. Counting the number of rings in stem cross section

[

. Counting no of Leaves on the main branch.
3. Measuring the height of tree from root ball

4. Measuring the canopy circumference of tree.

Options :

68634077901. 1
68634077902. 2
68634077903. 3
68634077904. 4

Question Number : 76 Question Id : 68634019721 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U J& DI TG BT G0 58 T 3 -

-

& & T D U BIc 1 Ao Sedl @ i a1

)

. g% ¢l W Hielg o Ul @1 701 R |
. J& DI SIS| & THIE Y 9& B GaTg A9 |
4. US &1 %4 B ulRfY Arge

Lad

Options :

68634077901. 1
68634077902. 2
68634077903. 3
68634077904. 4

Question Number : 77 Question Id : 68634019722 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'Kashi Vishwanath Cormidor' Development project was completed by wlhich architect 7

1. B.V Doshi

()

. Bimal Patel

. Asghole B.Lall

]

4. Dikshu Kukreja

Options :

68634077905. 1
68634077906. 2
68634077907. 3
68634077908. 4

Question Number : 77 Question Id : 68634019722 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DI fay1Y SIRSR b1y Ui 69 aRgeR 7 0 )
1. §l.dt. gt

3R o, a1

fam@ ged

e papan

Options :

68634077905. 1
68634077906. 2
68634077907 3
68634077908. 4

()

]

e

Question Number : 78 Question Id : 68634019723 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R.
Assertion A: Agra fort was built by Akbar and He shifted there from Fatehpur Sikri.

Reason R: Though Akbar wanted to rule the nation from Fatehpur Sikri, but he could not stay there for long
due to lack of water in that area and shifted to Agra fort .

In the light of the above statements. choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

()

. Both A and R are true but R is NOT the correct explanation of A
3. A 1s true but R 1s false

4. A is false but B 1s true

Options :

68634077909. 1
68634077910. 2
68634077911. 3
68634077912. 4

Question Number : 78 Question Id : 68634019723 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i< 3 B R T B TP AHfUFUT (Assertion A) B FU H TR € TN G THD BRT (Reason R) P
U,

STUHYT A : SR BT [Ha1 HPaR A F9a11 YT o Bog R (o<l o ST (ST 71T o7 |

PRUTR : HHTR BAg IR (P31 Qe TR AME ST 161 YT IR I8 SJIel THY 36 ol IPT Fifd
g8l IR 9! &1 BT 2 29 fU TR & o § RIEaiGg gH1 97|

SWRIH Y & 3Telie |, = f3U 1 fddhedl § 9 969 Suged IR &1 99 HifoIg;
1. ARREFITAE IR R ADI ol RSN &
2. AJRREA TUE R R, A DI T TR T8 &

3. ATAE AR ITT B

4. AT E APIRTT S

Options :

68634077909. 1
68634077910. 2
68634077911. 3
68634077912. 4



Question Number : 79 Question Id : 68634019724 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the mechanisms that is associated with the heat loss of a material

A. Conduction
B. Reflection
C. Convection
D. Radiation
E. Refraction

choose the correct answer from the option given below:

l1.LABand C

| ]

CACand D
JJABand E

4 BDand E

Options :

68634077913. 1
68634077914. 2
68634077915. 3
68634077916. 4

Question Number : 79 Question Id : 68634019724 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

39 fopar faftr &5t ugam oy o fodt yerf St S e A gdfia g

A, FTEH

B. TIadA

C. (HI9a9H) Hag
D. fafeeor

E. 30dcdH

1= fdu U [9eedl § 9 a4 Iugdd SR &I 99 BT
LAB3RC

A.C3RD

_A.B3IRE

4.B.D3IRE

Options :
68634077913. 1
68634077914. 2

| ]

L]



68634077915. 3
68634077916. 4

Question Number : 80 Question Id : 68634019725 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not a part of disaster resistant building ?

1. Shear wall

()

. Glass window

]

. Cross bracing
4. Bonds at different level from plinth to roof

Options :

68634077917. 1
68634077918. 2
68634077919. 3
68634077920. 4

Question Number : 80 Question Id : 68634019725 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frofafEd o T URd T HH T 4T SM9eT ERIYT 7ol ¢
1. AUEYU ElaR
Hig Bl fasH!
ST SR

4. T Y Bd T HA- 3T TR W ST EHT

| ]

L]

Options :

68634077917. 1
68634077918. 2
68634077919. 3
68634077920. 4

Question Number : 81 Question Id : 68634019726 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Planning theories) (Proponents)
Sector Theory I. |[Ebenezer Howard

[Neighbourhood Theory| 11 [Harris and Ullman
Multiple Nuclei Theory] 111 [Homer hoyt
(Garden citv Theory IV |Clarence Perry

ofo|wm|x

Choose the correct answer from the options given below:

1. A-IIL. B-II, C-IV, D-I

()

A-IV, B-1. C-I1I1, D-II

. A-IIL B-IV., C-II. D-I

L

4. A-TIV, B-II1, C-I, D-II

Options :

68634077921. 1
68634077922. 2
68634077923. 3
68634077924. 4

Question Number : 81 Question Id : 68634019726 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 1 1 =l 11 ¥ fier ifeg
.- e

N e I Ed=R 88

B. Favgs Wi 1L [gR¥ 3R 3aad

C. [qeeiue Yol @RI | 1L [EIR 8

D. [lied e @l | IV, [aaaed oal

fFafeiad [deedl § O Og! ST &1 94 i -

1. A-IIL. B-1II, C-IV, D-I

-J

ATV, B-I, C-TII, D-II

AT B-IV, C-I1, D-I

[#5]

4. A-TV, B-ITI, C-1, D-II

Options :

68634077921. 1
68634077922. 2
68634077923. 3
68634077924. 4



Question Number : 82 Question Id : 68634019727 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ECBC was launched in India on may 27 .2007. It 1s applicable for

A. Commercial Building having less than 500kw load
B. Commercial Building having load of 500kw or more

C. All building with conditioned floor areas 500m” to 1000m”
D. All building with conditioned floor areas 500m” to 1000m>

choose the most appropriate answer from the option given below:

1. A and C only

()

.A.C and D only

L]

.B and D only

4.B and C only

Options :

68634077925. 1
68634077926. 2
68634077927. 3
68634077928. 4

Question Number : 82 Question Id : 68634019727 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
27 5. 2007 T YRd & ECBC Y= §31 U8 8 R AR a1 3 |

A, AIUITSID AR 1 TS 500 kw I HH ST

B. AIUIGT® SHRA ®1 A8 500kw T1 599 SU1&1 81T

c. g3t ARGl H B2 &1 &7 500m? I 1000m? I

D. T SARA! § Td B &1 &7 500m? T 1000m? ST STT&T gHT|

[

-9 fRu Tt fasedl § 9 9ad Sugad SR BT 99 SHIfot-
1. Fad A SR C

. $ad A, C 3R D

3. %90 B 3R D

4. HAAB AR C

Options :

68634077925. 1
68634077926. 2
68634077927. 3

-2



68634077928. 4

Question Number : 83 Question Id : 68634019728 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most appropriate tree for designing a smell sensory pathway 1s:

1. Delorix Regia

[

. Casia Fistula

L]

. Bougamvillea

4. Jasmm Augustifolivm

Options :

68634077929. 1
68634077930. 2
68634077931. 3
68634077932. 4

Question Number : 83 Question Id : 68634019728 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U =101 Hadl ANt 1 f&ug" B+ & o0 gad Sugad 98 &1H 91 ¢
1. STa-a SrorT
i fhegan
ERis G
4, FueA s By

Options :

68634077929. 1
68634077930. 2
68634077931. 3
68634077932. 4

| )

T

Question Number : 84 Question Id : 68634019729 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Three qualities defining our perception of Chromatic hight are :

1. Hue .Tint. Shade.

()

. Brightness .Contrast . Tint

]

. Value ,Hue .Intensity

4. Value.Brightness .Shade

Options :

68634077933. 1
68634077934. 2
68634077935. 3
68634077936. 4

Question Number : 84 Question Id : 68634019729 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i U1 & diYvTg ol URYINT S arel i o7 ferdd |
1. Hue @2, U5 (Shade)
3. Hue, TUFTAT
4. deg, 99, V'S (Shade)

Options :

68634077933. 1
68634077934. 2
68634077935. 3
68634077936. 4

| )

[#F]

Question Number : 85 Question Id : 68634019730 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A [Wixner centre for visual Art. Ohio [. |Peter Eisenmen
B. |Vitra fire Station, Weilam Rhein, Germany| 1. [Louis Kahn
C. |AT and T Building I11. |Zaha hadid
D. |Sher-e Banglanagar Dhaka IV, |Phalip Johnson

Choose the correct answer from the options given below:

1. A-I. B-II. C-IV, D-II

| ]

CA-L B-IT, C-ITT, D-IV
3. A-I. B-II. C-IV. D-III

4. A-L. B-IIL. C-I1. D-IV

Options :

68634077937. 1
68634077938. 2
68634077939. 3
68634077940. 4

Question Number : 85 Question Id : 68634019730 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt 191 = 11 ¥ e Sifse

T 1 T 11
A. [aR HX BR [Aoled e, edl | 1 [diex g8ie
B. [fag1 BRR w=F, fAftma g wml | I [agg om
C. [ed us <t fefcgn g I11. [5T8T §alg
D. [ER - U THR, STl IV. [thferd sfi=a

FEfaRad e edl § 9 9ol 3 &1 994 S0

1. A-I. B-III. C-IV. D-II

[ ]

CA-L B, C-ITL, D-IV
3. A-L. B-1I. C-IV, D-II1

4. A-L. B-III. C-I1. D-IV

Options :

68634077937. 1
68634077938. 2
68634077939. 3
68634077940. 4



Question Number : 86 Question Id : 68634019731 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST IT
A rombe wall I K b_iac:k water filled vessel absorbing solar
radiation
B. |Brise -Soleh II. |Class enclosed space for sun bathing
¢ Drum wall 1. Gla_es _fmnt masonary absorbing solar
radiation
D. |Solarum IV |Screen to shield the interiors from sunhight

Choose the correct answer from the options given below:

1. A-IIL. B-IV, C-I, D-II

(R

CA-IV, B-1. C-II, D-IV
3. A-IIL B-1. C-IL. D-IV

4. A-II. B-I. C-III. D-IV

Options :

68634077941. 1
68634077942. 2
68634077943. 3
68634077944. 4

Question Number : 86 Question Id : 68634019731 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=111 =T 11 ¥ fieH Sifeg
T I Tt 1

- e fafH @l faenid &
4 R |1 ATel U Bl U H 43 &
B. [0 Oidia 11 [efg Hep ob feru =T Y FRT =IH
. @1d o GTH- & T3 115 3R
C- [gH L fefpeo o sraiiftig Bt &)

- (B & O bl e
D. [Hreiiay V. R % o S

FEfaRad f[deedl § U 9l 3a &1 994 SI19IU ;

1. A-ITL. B-IV, C-1. D-II

[ ]

CA-TV, B-1, C-ILL, D-IV

CA-IILL B-1L C-I1, D-IV

[FS]

4. A-II. B-I. C-III. D-IV



Options :

68634077941. 1
68634077942. 2
68634077943. 3
68634077944. 4

Question Number : 87 Question Id : 68634019732 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
A |Egvption I. |New bonding material
B. |Greck II. |Building Skeletion and Skin|
C. [Roman IT1. |Trabeation
D. |Gothic IV, |Optical Correction

Choose the correct answer from the options given below:

1. A-II. B-I. C-IIL. D-IV

| )

CA-IL B-IV, C-1, D-II
3. A-L B-II, C-ITI, D-IV

4. A-IV. B-IIL. C-II. D-I

Options :

68634077945. 1
68634077946. 2
68634077947. 3
68634077948. 4

Question Number : 87 Question Id : 68634019732 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ty

1 191 = 11 ¥ e Sifo

y
T 1 ?gwi_’l‘ I
kG L 3

A B I |3 du= gl

B. [fid IL [hid X gl ol HHM

C. ke I1L [Ha FHH0r § EaR &1 Uan]
D. [Tiii® IV. [HITP® R
FafdRId faedl © I Ugl IR &1 90+ ST ;

1. A-IT. B-1. C-II1, D-IV

| ]

CA-IL B-IV, C-1L, D-1I

. A-L, B-IL. C-III. D-IV

L

4. A-IV, B-III, C-II. D-I

Options :

68634077945. 1
68634077946. 2
68634077947. 3
68634077948. 4

Question Number : 88 Question Id : 68634019733 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Five Year Plan) (Coresponding)
First five vear plan [. [Formation of HUDCO
Fourth five yvear plan | IL [Establisment of TCP
Seventh five vear plan | II1 |Introduction of INNUEM
Tenth five vear plan | IV. |JAnnoucement of National Housing Policy

ofo|w|E

Choose the correct answer from the options given below:

1. A-I. B-II. C-IV. D-III

()

. A-IL B-I. C-IV, D-III

CA-TV, B-1, C-IT. D-III

Lad

4. A-1, B-1I. C-I11. D-IV

Options :

68634077949. 1
68634077950. 2
68634077951. 3
68634077952. 4



Question Number : 88 Question Id : 68634019733 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tt 191 = 11 ¥ e Sifse

GELN! 11
tiaan“@u‘lw %%?n%u

gdll ddayig aieqT | L [HUDCO® T84

1 aaetg afer | I frep &t =mgEr

[gTaa Ugaur areT | L INNURM &1 UR=g

GHdl Ugaug aia | [V, [FRES gIa & giierd] @i e

frafead famedl § T Wl SR & =0 S ;

1. A-I. B-I1. C-IV. D-III

ofo[w]s

| ]

CA-IL B-IL C-IV. D-1II

 A-TV, B-1. C-I1, D-III

L

4. A-L. B-II. C-III. D-IV

Options :

68634077949. 1
68634077950. 2
68634077951. 3
68634077952. 4

Question Number : 89 Question Id : 68634019734 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As per CPWD guidelines and space standards for barrier free built environment .the minimum turning radins
for a wheelchair in mm 1s:

1. 900

()

1200

. 1500

L]

4. 1800

Options :

68634077953. 1
68634077954. 2
68634077955. 3
68634077956. 4

Question Number : 89 Question Id : 68634019734 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

CPWD & f=T FE 3R ®IF AFS! & SAER a1 i a1e1 & ve @i 9 (Pl & [HAf & [
gqH e o gt feciidier J

1. 900

| ]

1200

1500

L4 ]

4. 1800

Options :

68634077953. 1
68634077954. 2
68634077955. 3
68634077956. 4

Question Number : 90 Question Id : 68634019735 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Eesidential I |Green
B |Commercial 1I. |[Blue
C. [Industrial IT1. [Voilet
D. Forest land IV [Yellow
Choose the correct answer from the options given below:

1. A-IV. B-1I. C-III, D-I

| ]

CA-ITL B-ILL C-IV, D-1
3. A-L B-II. C-IV, D-III

4. A-II. B-IV. C-I1. D-IV

Options :

68634077957. 1
68634077958. 2
68634077959. 3
68634077960. 4

Question Number : 90 Question Id : 68634019735 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ty

a1 1 gl 1 ¥ e o

I 1I
% 1 e (@19)
HIT L[4
ClEIEEES I [Hien
HERTS 101 [&7t
T i o | IV, [die

frafead famedl § T Wl SR & =g S ;

1. A-IV, B-IL, C-II1, D-I

ofo]w]>

| ]

AL B-I1L C-IV, D-I

. A-L. B-IL. C-IV, D-III

L

4. A-II. B-IV. C-I. D-IV

Options :

68634077957. 1
68634077958. 2
68634077959. 3
68634077960. 4

Question Number : 91 Question Id : 68634019736 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A JRad burn I. [Linear
B. |Broadacre 1I. |Grid 1ron Pattern
C. |Chandigarh IT1. [Town of the motor age
D |Letchworth IV |Garden city

Choose the correct answer from the options given below:

1. A-IIL, B-1, C-11, D-IV

| ]

CA-L B-IOOL C-I1, D-IV

A-IV, B-II. C-1, D-III

T

4. A-IV, B-IL, C-III. D-I

Options :

68634077961. 1
68634077962. 2
68634077963. 3
68634077964. 4



Question Number : 91 Question Id : 68634019736 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=t 11 ol 11§ fier ifeg
I T 11
R HYTROT
A REeHEE | L iR
B. [@18Uax IL |58 3R Ued
C. ierme 1L [e73 3 Aex i
D. [de a¥ IV. [rs+ [t
FFafaRad fasedl d I U8l 3R &1 98- Sl -

1. A-IIL. B-1. C-I1. D-IV

-J

A-L. B-IIL. C-I1. D-IV

CA-TV, B-IL C-1. D-III

[#5]

4. A-TV, B-II, C-I11, D-I

Options :

68634077961. 1
68634077962. 2
68634077963. 3
68634077964. 4

Question Number : 92 Question Id : 68634019737 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
A |City development plan I PMGSY
B. |Slum free city II. PNNURM
C. |Transport Network Plan in rural area| II1. [RAY
D. [Disaster Network Plan TV [NDMA

Choose the correct answer from the options grven below:

1. A-II. B-III. C-L. D-IV

)

. A-IL. B-1. C-III. D-IV

CA-L BAIOTL C-T1, D-IV

Lad

4. A-III. B-IL. C-I. D-IV

Options :
68634077965. 1
68634077966. 2



68634077967. 3
68634077968. 4

Question Number : 92 Question Id : 68634019737 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It 1 o1 9= 11§ e Sifse

A [rredl [Ty gie 1. [diugelivgar
B. [SIUS-Uel Aed e 1. [SEAUIHREH
C. [ & H uRaed uikdier | I [sRuarg

D. [HUg] Heddh gieH] IV. [T420AY

fraferad famedl # T Wl SR & 9g Sifo ;

1. A-IT. B-I1L. C-1, D-IV

| ]

CA-IL B-IL C-IIL D-IV

. A-L B-IIL. C-I1. D-IV

L

4. A-IIL. B-IL. C-1. D-IV

Options :

68634077965. 1
68634077966. 2
68634077967. 3
68634077968. 4

Question Number : 93 Question Id : 68634019738 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : Bhunga house 1s related to Architecture with Architect.

Statement IT : Bhunga house 1s related to Architecture without Architect.

In the hight of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

()

. Both Statement I and Statement IT are false

. Statement I is correct but Statement IT 1s false

[F¥]

4. Statement I 1s incorrect but Statement II 1s true

Options :
68634077969. 1



68634077970. 2
68634077971. 3
68634077972. 4

Question Number : 93 Question Id : 68634019738 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A4 gl P Ry e 8
FUA : ARPR & JY dRIBal & g Y @R JHfd|
HYF 11 : T R 577 aRgPR & aRgeddl I Jafd g |
ORI Y & Tl |, - f3u T fadedl § 9 969 Sugad IR &1 99 ST
1. BT IR PUF A Tl &

DY 3R BYA 1T a1 TTd &

| )

HYT 1 96l 5. A U 11 TTed ©

Lad

4. BYF 170 5. Afde HYT 1 T8l &

Options :

68634077969. 1
68634077970. 2
68634077971. 3
68634077972. 4

Question Number : 94 Question Id : 68634019739 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following city comes under UNESCO- world heritage city-

1. Dellu

[ E]

. Ahmedabad

. Kolkata

L%}

4. Mumbati

Options :

68634077973. 1
68634077974. 2
68634077975. 3
68634077976. 4



Question Number : 94 Question Id : 68634019739 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafarad @ T $1F 91 263 I [0y 4RIg & Siaid 317l 6-
1. feemt
 SEUEEIG
 PICTDIdl
4. gag
Options :
68634077973. 1
68634077974 2

68634077975. 3
68634077976. 4

| )

Lad

Question Number : 95 Question Id : 68634019740 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not included in the UDPFI guidelines urban development ?

1. Perspective Plan

()

. Development Plans

. City Development Plans

L%}

4. Ammual Plans

Options :

68634077977. 1
68634077978. 2
68634077979. 3
68634077980. 4

Question Number : 95 Question Id : 68634019740 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafafad & 3 1 Wl faer & fog gEiduwearns fE=n frd= & mnfha 72T &)
1. GISled aretT

famr Ao

X164 fdor g T

4, A1 TIsH

Options :

68634077977. 1
68634077978. 2
68634077979. 3
68634077980. 4

| ]

[ 5]

Question Number : 96 Question Id : 68634019741 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following 1s NOT a traffic calming measure ?

1. Rumble strips

()

. Roundabouts
3. Pedestrian Crossings

4. Roadside trees

Options :

68634077981. 1
68634077982. 2
68634077983. 3
68634077984. 4

Question Number : 96 Question Id : 68634019741 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafefad & 3 S99 ararad 2id S &1 39 Tel o

TTSTTSTeC B Ugl

[—

| ]

XSS AN (Tedadh)

3. UE R Uy

4. G5 P Y TG4

Options :
68634077981. 1



68634077982. 2
68634077983. 3
68634077984. 4

Question Number : 97 Question Id : 68634019742 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Prof. B.V Doshi was awarded Padma Vibhushan (Post thumous) in which year?

1

2.

4.

Options :

68634077985. 1
68634077986. 2
68634077987. 3
68634077988. 4

Question Number : 97 Question Id : 68634019742 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UtEER &l dl =i @ i o usy faywor 8 g fear g

1.

)

Lad

4.2

2020

Options :

68634077985. 1
68634077986. 2
68634077987. 3
68634077988. 4

Question Number : 98 Question Id : 68634019743 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'AMRUT" the new scheme Launched by Government of India stands for

1. Atal mission for Rejuvenation and Urban Transformation

()

. Atal mission for renewal of Urban Transportation

3. Atal mission for Redevelopment of Urban Transportation

4. Atal mission for Renewal and Urban Transformation

Options :

68634077989. 1
68634077990. 2
68634077991. 3
68634077992. 4

Question Number : 98 Question Id : 68634019743 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TUHAHRGLT o] YR TRBR A Y& B o1 gui 39 & |
1. 3T HRH BR ROa==H UUS 3@F Ja®BRATH
. 3fed H=H BR gad S sa giuiesH
3. 3fed R Bk RSaayde 3ifh s@ eiRaaes
4, 3 fHRH BR Rgad Uus 3fa giadiesH

Options :

68634077989. 1
68634077990. 2
68634077991. 3
68634077992. 4

()

Question Number : 99 Question Id : 68634019744 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The concept of transit Oriented Development (TOD) refers to :

1. Transit oriented planning in institutional campuses

()

. High density development along a mass transit corridor
3. Orienting residential blocks towards the transit in a gated community

4. Spatial design for person with disabilities along a mass transit order .

Options :



68634077993. 1
68634077994. 2
68634077995. 3
68634077996. 4

Question Number : 99 Question Id : 68634019744 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634077993. 1
68634077994. 2
68634077995. 3
68634077996. 4

Question Number : 100 Question Id : 68634019745 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I : Guggenheim museum Bilbao 1s designed by Ar. Frank Gehry.
Statement IT : Tt is a perfect example of Brutalism.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

[ )

. Both Statement I and Statement II are false

. Statement I is correct but Statement IT 15 false

T

4, Statement [ 15 incorrect but Statement IT 1s true

Options :

68634077997. 1
68634077998. 2
68634077999. 3
68634078000. 4

Question Number : 100 Question Id : 68634019745 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

68634077997. 1
68634077998. 2
68634077999. 3
68634078000. 4



